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- 32 5 P public static void change(SideEffect 1)

zks Vs e 2 I 5 {
g8 EMAMm KA £.xSet(5);

;
}
= ~ What does the following program print? (10%)
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public static void main (String{] args)
{

= » What does the following program print? (10%) System.out.println("Start of main");

class SideEffect try
{ {
private int x = I; _ £);
public void xSet(int xx) }
{ catch {ArithmeticException e)
X = XX; §
} System.out.println("Exception");
public int xGet() ' }
{ System.out.printin("End of main"});
return X; : }
H public static void {{)
§ {
class Ex1 System.out.println("Start of f');
{ g0
public static void main(String]] args) System.out.printin("End of £");
{ - \
intp=1; public static void g()
change(p); : {.
System.out.println(p); System.out.println("Start of g");
SideEffect r = new SideEffect(); int x;
change(r); x = 5/0;
System.out.printin{r.xGet()); ‘ System.out.printin{"End of g");
} - } EEFRHAE A
public static void change(int q) }




= ~ What does the following program print? (10%)
class Ex3

{

public static void main(String[] args)
{

12(5);

System.out.printin();

}

public static void r2(int x)
{
if (x ==0)
System.out.print("E"™);
else if (x == 1)

{
System.out.print("A");
r2(6);
System.out.print("B");

}

else

{

System.out.print("C");
r2(x - 2);
System.out.print("D");

v9 ~ Write a Dynamic Programming algorithm for determining a longest common subsequence
between two strings. A subsequence of W is obtained by deleting 0 or more (not
necessarily consecutive) symbols from #. A common subsequence between W and X 1s
defined to be a subsequence of both strings. The longest commeon subsequence problem
is to find a longest common Subsequencé between two strings. For instance, consider
W = abaade and X = caacedc . The longest common subsequence between W and X is
aaec . (20%)

# -~ Virtual memory is the separation of user logical memory from physical memory. Virtual
memory is commonly implemented by demand paging. Describe how a demand-paging
system works. (10%)

#3 ~ A B-tree of order m is an m-way search tree that is either empty or satisfies the following

properties: (1) The root node has at least 2 children. (2) All nodes other than the root
node and failure nodes have at least [m/2] children. (3) All failure nodes are at the

same level. Show the results of inserting the keys
ESQKCLHITVWMR
in order into an empty B-tree of order 3. (10%)

4-+Show the red-black trees that result after successively inserting the keys 41, 38, 31, 12, 19,
8 into an initially empty red-black tree. (10%)

A ~ Consider inserting the keys 54, 12, 16, 23, 6, 13, 82, 28, 31 into a hash table of length m =
11 using open addressing with the auxiliary hash function /'(k) =% modm . Show the

result of inserting these keys using quadratic probing. Quadratic probing uses a hash
function of the form h(k,i)) = (W' (k) +i+3i*ymodm, i=0,12,--. (10%)

#, ~ Describe the use of the real-time transport protocol (RTP) and, by means of a diagram,
show its position in relation to the TCP/IP protocol stack. (10%)



